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Mathematical Induction Ex 12.1 Q1
Pfn):nfn+1) iseven
P(3):3.(3+1) is even

Mathematical Induction Ex 12.1 Q2



£ {n): n®+n is divisible by 3

P (3):3%+3 is divisible by 3

= P (3): 30 is divisible by 3.
P(3)is true

Now,

P (4): 4%+ 3= 67 is divisible by 3

Since, 67 is not divisible by 3

So, P (4) is not true
Mathematical Induction Ex 12.1 Q3

Pn):2" 23n
Given that 2 {r) is true

= 2 = a3

Multiplying both the sides by 2,
2.2 x5

2z 6r

g 3r+3r
z 3+ 3r, [Since 3r 23 = 3r+3rz3+3r]

2t 23(r+1)
= P{r+1] is true
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Here, P [n): n? +n is even

Given, P(r] is true

= r24+ris even
= réer =21 ---[1)
MNow,

[r+1}2+{r+1}

=risor+1+r+1

=(r2+r)+2r+2

=22+2r+2 [Using eqaation (1)]
= 2(,1+r+1]

= EF

= [r+1]2+[r+1} is even

= P[r+1} is true

Mathematical Induction Ex 12.1 Q5

nln+1
[ } Is true for all ne N

Pln)il+2+3+---+n=



Mathematical Induction Ex 12.1 Q6

P[n}:nz-n+41 is prime

Pf1):1-1+41is prime
=P (1):41isprime
= #(1) is true.

P(2):22-2+41is prime
= P(2): 43 is prime
P (2) is true.

P(3):3%-3+41isprime
= P (3):47 is prime
» P(3) is true,

p(41): [41]2— 41+ 41is prime
P (41): [41]2 is prime
= o [41] is nat true





